Axiom 1.0 | think therefore | am

To begin it is important to define what a person is, which according to my definition IS as singularity.
Theorem 1 (Person): +00 = —o0 2 @ £ singularity = Self Awareness

Theorem 2 (Current): Self Awareness = Thought -- Thought £ Economic Current £ i
Diagram 1: N-Dimensional Representation of a Corporation

@ O <> Zero v Y\ Influence Axiom 1.1 And one man in his time plays many
parts

For every person in the corporation there exists at
least two organizations in which they are
members.

Theorem 3 (Delta-Delta):
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Axiom 1.2 And all the men and women merely
players

An organization must be finite in nature for their
connections, which are always cyber in nature, in
order to approximate a delta-delta connection.
Theorem 4 (Power): ¢(7,5) =
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Theorem 5 (Influence):
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Influence (o o] Axiom 1.3: They have their exits and entrances

A person leaving or joining an organization warps

the space-time-thought continuum of that
organization causing the space-time-thought continuum of the entire corporation to warp. As a corollary cyber-
connections between members that exist out of formal and finite organizations creates non-finite organizational
structure that also warp the corporate continuum. Cyber-connections are both easy to create and difficult to completely
destroy even after times of immense conflict between the connecting people; such that even after a long hard battle the
connections generally repair themselves with time. Even when someone formally leaves an organization their cyber-
connection always remains.

Theorem 6 (Transform):
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Axiom 1.4 All the world is stage; His acts being seven ages. Or: Tesla was right about Akashic Fields
The organizational inter-influence result in an artificial singularity, or corporation, which warps the space-time
continuum of the physical world, effectively human minds ARE a force of nature no less significant than gravity.
Theorem 7 (Transcend):

00,00, = A0,0, = Acw

My message to the finest pure mathematician of all time, Paul Erdds: This IS the book!
In the language of Gaius Julius Caesar:




